__./__l W= Mg = (500 kj)@ 4! 5> [4 720 N

m= (1500 k) ( (415;:*15 )= 1028 shgs

W =mg= @02 8 slujs)<322 Sect
= 3310 b




2| For a

W:W\31

180 -1k pergon :

' m = 5,59 slugs
180 Ik ( 4.4—1:82 N ) = 30! N
W = YY\j : 0\ N = m (Ci.?‘ mlsz)

m= %6 kj




L/3 l The weight of an average apple is

_ 51b _
W ~ Zapples - Q.41T7 b
M ‘ , " 0.417
ass in slugs 1s m g 32.2 l:.;);iﬁtsluqs
. g
Mass in kj IS m =0, OIZ%sIqu( 1 Smjf)

= 0.1388 Kj

Weight in N is W =mg=0.1888(3.8) = 1.853 N
These apples weigh Closer T8 2 N each Than
v the rule of L N each !




A4 | N, =2 (cos 0L + sin 307 )

= 10.39L 1 6y
_ 3 . 4, ' °
Vo =is(Esiesi)= Ty
V\+_V = 12415 = 27

Y, = (srea)ie (o) = 13%ie i

-
ViV = (10319 e (6-12)g = 193904
VXV, = (0.3 “‘({_i))( (-9i+2))
=l031012)- ¢ (-] k = 1787k
VY, = 081 (7)) = -zs



i‘ = 005 m for both spheres

== Gmeme G (fe Tar®) (Fe Ter’)
a“ dﬁ'
= Glfcr.t (‘g;’lfr?’)z
dl

m 3

With (G = @,5,73(10‘”) e
rC_: 3910 Kj/m3
fr = 3080 KJJm™

We oktawn | as Vectors:
@) F= —125500")it N (fords= zm)
() F == 304(10™") i N (for d=4n)




e | q- Gme

(R+n)%
_ (3.439 x 10°8) (4.095 x1023)

=—m— = 29,9 ftjsec
[ (3957)(52%0) +(150)(52%0) ] 207 e
W _ 260 _
Mass «f man : m = 3 32094 - Q.ZZS\uSs

RAbsswte mei%h‘t at h= IS0 wiles:

W= mg = (b22)(29.9) = 1860k
The terms “Zero—cd " and “wﬁ'\ghﬂes\s "
Qre, de‘(’\initdj Misnemers W thic  instance .



1] vhq= S,
. RZ

CEDER %30
Selve for h o obtam h=(—J_Z—"i)R

or h= O.414R




({8

SreL' C1'780 32’7(l+ 0.005219 s X+o 0000623 S\n X*— )
At ¥=40° g = 981638 m[s®

Jops = Jre, + 0-033%2 Cos"x'
= 9.801698 + 0.03382 CosS 40

= 9,321 544 M[s

‘Wo&as

"

MYqps = 90 (9.321549) = §83.9 N
Wee = ™M 3reL = 90 (3.801¢18) = %82 2 N




_LI_Z_JUsc Vine =

ms = 1496 (10°Ykm as The

moon — Sun  distance.

= = Gmsm__ Co.07 3007 Y5976 (16%*)@333 000) |90
oS Vo [l4‘i.6(lo’)lz

0.534 N
Fp = Mg, = 0062) = 146 N

(




JE L Sun Earth

s G// \:n @ Me

d—a—Jr“J

Newtcm‘s‘ Unwersal Grovitational law:

Gmms _ Gmme
di QSC'CLBZ

(T
dz[:ms-me]- *[2'“5“3@]“ Myl =0
Substitete me = 5.97% (10 24) kj R

mg = 333000 [5.976 (102*)] kg,
and Y = 1476 (1o?) m
Then Selve The Ciuo.clra‘tx'c +o  oktam

d = 149.3 (1% m
or A = 1499 (107 m




Force exerted by earth on moon :

F, = G“‘S M _ (6613 16~ (5,976 x 122 (1) (0-0123)
Yem (334 393 x10 ¥)=
= 1.984 x102° N
Forces exerted by sun on ™oon :
R = GMMm _ eer3xis™)( ‘i'u,xloz‘*)z(s'ssooo)(M'?é)
(r s Y nD (l 49¢ x10" + Q. S’lrsqaxlo?)z

= 4.34%102% N [Roties




=] mv=fL(Fcose)dt
ML = (MLT)[r]

[MLT™] = [MLT] v



